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FEEICHTHBEHE (%)
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SHERRIK] | 28.9+6.5 | 80.8+10.3 | 100.0*= 3.4 | 102.2+0.4

FEAERIA] | 16.1£5.4 | 75.2+218.4 | 95.1 £10.5 | 102.0+2.2
(Mean=S.D., n=12)
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FREICHIFHBHE (%)
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SERHIK | 27.7+7.4 | 77.3+14.2 | 96.8+7.2 | 102.2+0.5

FEERIA | 13.8+4.8 | 70.1=10.4 | 93.1*=5.6 | 101.0*=1.5
(Mean=*S.D., n=12)
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SERELA | 26.6+6.4 | 73.4+111.6 | 94.3+7.1 | 101.6£1.0

fEUERIA | 13.5+4.6 | 65.510.8 | 92.4+4.2 | 101.3£0.9
(Mean=S.D., n=12)
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SHEpIK] | 28.0+-4.5 | 79.6+ 7.7 | 98.1+3.3 | 103.2+1.3

fEAERIK] | 15.1+4.7 | 68.6+12.7 | 91.3+8.3 | 100.8+1.2
(Mean=S.D., n=12)
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SHERRIA] | 45.91295 | 86.9+19.7 | 99.6+6.3 | 103.1+0.5

FEAERIK] | 13.3+ 9.0 | 75.3+13.1 | 98.9+3.8 | 103.4+0.4
(Mean=S.D., n=12)
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